Percent Composition Practice I
In this exercise, you are going to determine which of the following ores are best to mine for the given compound.  The best compound to mine is the ore with the highest percent of the metal.
Practice Problem:  
For Antimony

1. stibnite: Sb2S3
For nickel:

1. Pentlandite:  Fe9Ni9S8
2. Millerite: NiS

3. Nickeline: NiAs

For lead:

1. Galena: PbS

2. Cerussite: PbCO3
3. Anglesite: PbSO4
For tungsten:

1. Wolframite: MnWO4
2. Scheelite: CaWO4
3. Ferberite: FeWO4
For silver:

1. Argentite: Ag2S

2. Horn silver: AgCl

3. Pyragyrite: Ag3SbS3
For boron:

1. Borax: Na2B4O7
2. Colmanite: CaB3O4(OH)3
3. Kernite: Na2B4O6(OH)2
4. Ulexite: Na

 HYPERLINK "http://en.wikipedia.org/wiki/Calcium" \o "Calcium" Ca

 HYPERLINK "http://en.wikipedia.org/wiki/Boron" \o "Boron" B5O9
For mercury:

1. Cinnabar: HgS

2. Corderolite: Hg3S2Cl2
3. Livingstonite: HgSb4S8
For calcium:

1. Calcite: CaCO3
2. Dolomite: Ca

 HYPERLINK "http://en.wikipedia.org/wiki/Magnesium" \o "Magnesium" Mg(CO3)2
3. Plagioclase: CaAl2Si2O8
For sulfur:

1. Pyrite: FeS2
2. Baryte: BaSO4
3. Cinnabar: HgS

4. Pyragyrite: Ag3SbS3
5. Anglesite: PbSO4
6. Millerite: NiS

